Самостійна робота 5 кл.
І варіант

1) Виконайте дії:

1) 2,53 ∙ 10;   (1 б)
2) 56,278 ∙ 1000; (1 б)
3) 0,26 ∙ 1000. (1 б)
4) 1,5 ∙ 0,18; (1 б)
5) 5,7 ∙ 3; (1 б)
6)  (3,28 + 0,55 ∙ 8,4) ∙ 9,2 – 43,78.   (3 б)
2) Обчислити зручним способом:

1) 2 ∙ 74,6 ∙ 0,5;    (2 б)
2) 0,42 ∙ 5,19 + 5,19 ∙ 0,58.    (2 б)
ІІ варіант

1) Виконайте дії:

1) 6,402 ∙ 10;    (1 б)
2) 0,24 ∙ 1000;    (1 б)
3) 987,02 ∙ 100;    (1 б)
4) 1,8 ∙ 0,28;    (1 б)
5) 4 ∙ 2,76;    (1 б)
6)  (7,27 – 9,6 ∙ 0,65) ∙ 7,2 + 25,59.   (3 б)
2) Обчислити зручним способом:

1) 0,2 ∙ 69,4 ∙ 5;    (2 б)
2) 43,8 ∙ 1,4 – 1,4 ∙ 43,5.    (2 б)
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